¢

ERNZ / Components

No. A / Part name # =2 / Pcs #E / Material £ - FMELIE / Color:Finish
1 /\F )L / Panel 2 7 JLEHR A1050P / Aluminium A1050P DIVIN—-T 599 T JLI AL / Silver-Black Anodized
2 E—k 249 H/3— / Heat-sink top cover 1 T7ILSHH#F A6063S-T5 / Extruded aluminium A6063S-T5 D LIN—-TS5Y9F7 )L Ak / Silver-Black Anodized
3 /73— / Bottom frame 1 T ILSIRH #f A6063S-T5 / Extruded aluminium A6063S-T5 2 )LIN—TS599F7 )L A / Silver-Black Anodized
4 7522 T 54y / Flange bracket 2 7L #F A6063S-T5 / Extruded aluminium A6063S-T5 S ILIN—TF5959F7)LAb / Silver-Black Anodized
5 INARIJLRUFE R (RAJUTIL) / Panel screw (Hexagonal) 8 RATULR / Stainless steel #EALIE / Unfinished
6 TS5 HTE R / Flange screw 4 #% / Steel ={ME S 0O A—bk / Black trivalent chromate
7 IS5 Bt F v / Flange nut 4 #% / Steel ={E S 04—k / Black trivalent chromate
8 Z35AT L / Rubber feet 4 $1)ard L / Silicone 7594 / Black

of > S
@7 8

BiE (B ERED) / Color Type

85 / Code ETH/\— / Cover 2522 T 54k / Flange bracket INA2JL / Panel
SS < JLs\— / Silver < JLs\— / Silver < JLsN— / Silver
SB < JLsN— / Silver < JLsN— / Silver 7594 / Black
BS 7597% / Black 7594 / Black 2 JLiN— / Silver
BB 7594 / Black 7594 / Black 7597 / Black
fnd/Title
BASUINTFEHIR ISV RIE—MUIT LT —R O]
TAKACHI ELECTRONICS ENCLOSURE CO,, LTD. FLANGED HEAT-SINK ALUMINIUM ENCLOSURE
A& 8/ Approved %X /Checked #I[X]/Created A F /Product number RE/Scale
EXHF19-11-130101 12
iR KiL = 1/ 6
YERL B /Date 2019/02/27




B-B(1:3)

225

220

108.25

10

106.5

4-MAMME R

4-M4Countersunk

ERATLRE
Rubber feet

D

< I
11.75
(g

3 P
175
8

M3AFvk
M3 nut

2l R LAYR M3 %6
Screw M3-6

15

90

25

142

157.5

162

170

180.5

185

46

A D [
(] (o] ?
C-C(1:3) D-D(1:3)
1.8
2
1.8
2
1.8
2
1.8
2
1.8
2
1.8
fnd/Title
TAKACHI] Hst&HUINFERTH S5US B E—h T LS —R O]
TAKACHI ELECTRONICS ENCLOSURE CO,, LTD. FLANGED HEAT-SINK ALUMINIUM ENCLOSURE
7% /Approved %X /Checked #I[X]/Created A% /Product number RE/Scale
1:3
EXHF19-11-13001
chif XiT & ) e

{YERL B /Date

2019/02/217




E

—k< 2% / Heat—sink

120

185
173

4-M4

53

8.6 140.4

149

177.5

o

25

8.6

17.5

BRASUINTFERTS

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
E—bk 2 HhN—

Heat-sink top cover

A1
QL]

A& 8/ Approved

iR

&3 /Checked

KT

#I[X]/Created

@

#IF /Product number

EXHF19-O-13

RE/Scale
1:2

{YERL B /Date 2019/02/27




1.8

1.8

1.8

1.8

1.8

1.8

11.1

177.5

170

180.5

86.5

4-M4

142
157.5
162
173
185

25

90

120

BRASUINTFERTS

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fh4 /Title
Thii—

Bottom frame

A1
QL]

A& 8/ Approved

iR

&3 /Checked #I[X]/Created

XL =

#IF /Product number

W185-H105-D120

RE/Scale
1:2

{YERL B /Date 2019/02/27




INAR)L / Panel

2.5

106.5

G-G(1:2)
173
——
©\ )
A A
&, N,
é—
186.5
(o o)

93

F-F(1:2)

S=21

B=

J-Jd(1:2)
H-H(1:2)
«
[ © \ [ ®)
J J
RPN PSR
&, ~/
e
(o o)
o Lo
w4 /Title f\ r”’l
TAKACHI| #RXLutahFERIE ISRV O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
AR/ Approved #&[X/Checked #H[X/Created I /Product number RE/Scale
EXHF19-11-O 1:2
iR KT A 5 / 6

YERLH/Date 2019/02/217




119.5

11.75 7

[oe]
= o
0
<
pE - 9
6-C2 46
46
292 168

25
1.2

316 (144

18

835

18

)

9-23.2 145
D

N

L]

@5 o ||
@? o (g
M3k R
M3 nut EATLRE
Rubber feet
&
RYLANYR M3 X6
Screw M3-6
——"—
fh4 /Title
TAKACHI| BRXSHSHTFERIE IS5 TSk {) G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Flange bracket
R/ Approved &3 /Checked #I[X]/Created #IF /Product number RE/Scale
1:
EXHF19-O-13 2
iR KiL 2 6 6

{YERL B /Date 2019/02/27




	EXHF19-11-13 Model (1).pdf
	EXHF19-11-13 Model (2).pdf
	EXHF19-11-13 Model (3).pdf
	EXHF19-11-13 Model (4).pdf
	EXHF19-11-13 Model (5).pdf
	EXHF19-11-13 Model (6).pdf

